
PLAYER JAGUAR BASS®
(014-9302-XXX/014-9303-XXX)

PARTS LAYOUT

COPYRIGHT - 2017 - FENDER MUSICAL INSTRUMENTS CORPORATION Page 1 of 5 
DEC 4, 2017 - Rev. A

  14 12

6
8 9

2

  11

1         

10

 7
 5

  13

  14 12  13

15

17

  3  4

12

19 20 

1820

161820

 6

21  6

24 26 27  23

25 26 27  22



PARTS LIST

COPYRIGHT - 2017 - FENDER MUSICAL INSTRUMENTS CORPORATION Page 2 of 5 
DEC 4, 2017 - Rev. A

PLAYER JAGUAR BASS®
(014-9302-XXX/014-9303-XXX)

REF # DESCRIPTION PART NUMBER

7712676513

7712361000

0991448100
0015636049
0994913000
0015578049
0036400049
0011357049
0051532049
7713115000
0081459000
0015610049
0994915000
0994930000
7712271000

7712273000
0992037000

0047329049

0031153049
0016436049
0016352049

0099137000
0990831000

BODY PLAYER JAGUAR BASS TDP
7712676519BODY PLAYER JAGUAR BASS SGM
7712676525BODY PLAYER JAGUAR BASS SRD

NECK PLAYER JAGUAR BASS PF 
7712362000NECK PLAYER JAGUAR BASS MN 

NECK PLATE - ‘F’ CHROME
SCRW SMA 8x1-3/4 OHP NI
ORIGINAL BASS STRING GUIDE
SCRW SM OV HD 4x1/2
KEYS BASS CORT
SCREW # 3 X 3/8 SM RD HD NIC
BUSHING KEY BASS
PICKGUARD STD JAGUAR BASS P/B/P
BRIDGE STD BASS
SCRW SM OV HD 5x1
ORIGINAL STRAP BUTTONS
WHITE FELT WASHERS
LEAD PICKUP ASSY P BASS

7712272000RHYTHM PICKUP ASSY P BASS
BRIDGE PICKUP JAZZ BASS
ORIG PICKUP COVERS P BASS

0027035049SCREW 4X1-1/4
0992038000ORIG PICKUP COVERS J BASS

JACK PHONE 1/4 - OUTPUT
0992057100CONTROL PLATE, STD. J BASS, CHROME

WSHR FLAT 3/8x.614 NI
WASHER, INTLOCK 3/8 NI
NUT HEX 3/8-32 X 3/32 NI

JAZZ BASS KNOBS
ORIG T/V CNTRL 500K SOLID SHFT

1

2

3
4
5
6
7
8
9

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27



COPYRIGHT - 2017 - FENDER MUSICAL INSTRUMENTS CORPORATION Page 3 of 5 
DEC 4, 2017 - Rev. A

PLAYER JAGUAR BASS®
(014-9302-XXX/014-9303-XXX)

WIRING DIAGRAM

NECK
PICKUP

BRIDGE
PICKUP

BRIDGE
GROUND

GROUND
LUG

CAPACITOR
.05uF



COPYRIGHT - 2017 - FENDER MUSICAL INSTRUMENTS CORPORATION Page 4 of 5 
DEC 4, 2017 - Rev. A

PLAYER JAGUAR BASS®
(014-9302-XXX/014-9303-XXX)

SWITCH AND CONTROL FUNCTION

MASTER TONE

BRIDGE PU VOLUME

NECK 
PICKUP

BRIDGE 
PICKUP

NECK PU VOLUME



COPYRIGHT - 2017 - FENDER MUSICAL INSTRUMENTS CORPORATION Page 5 of 5 
DEC 4, 2017 - Rev. A

PLAYER JAGUAR BASS®
(014-9302-XXX/014-9303-XXX)

ADDITIONAL SPECIFICATION DETAIL

10.4 - 11KΩ

7.1 - 7.7KΩ

.103’’

2-13/16’’

.046’’

Ø .709”

TUNING MACHINE THRU-HOLE
INNER DIAMETER .709”

ALNICO 5
UNBEVELED

ALNICO 5
BEVELED

NECK SOUTH
NORTH

NORTHBRIDGE

10-32 THREAD

Ø.312”
Ø 3/16”

FRET SIZE: MED JUMBO NECK PROFILE:

TRUSS ROD NUT P/N 0038454000

LOGO: DECAL FENDER JAGUAR BASS
APPLIED UNDER THE FINISH

BUSHING KEY BASS 
P/N 0051532049

KEY BASS CORT
P/N 0036400049

Ø.544 Ø.739 

.80”

.90”

PLEASE NOTE: AS EACH NECK
IS SANDED & FINISHED BY 

HAND, THICKNESS DIMENSIONS
MAY VARY SLIGHTLY FROM

THOSE SHOWN.

SADDLE HEIGHT ADJUSTMENT SCREW 
P/N 0081459000

SADDLE HEIGHT ADJUSTMENT WRENCH:
.070” HEX KEY P/N 0051536000

.070” HEX


